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POLYNOMIALS

lllustrations

1. Find the degree of each of the polynomials given below:(i)

25—zt + 3(i) 2 — y? — y® + 28 (i) 2

o Watch Video Solution

2. Write the coefficients of the highest degree terms in the following

polynomials : 10m? — 3m

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KuIUsljs4pKg
https://dl.doubtnut.com/l/_FK7nC0bm5pDQ

3.Find the value of the polynomial p(z) = > — 22°> — 2z —3atz = 3

o Watch Video Solution

4. Verify whether 2 and 0 are zeroes of the polynomial 2> — 2z.

o Watch Video Solution

5. Using remainder theorem, find the remainder when

zt + 2% — 222 + 2 + lis divided by z — 1.

o Watch Video Solution

6. Examine whether y+3 is a factor of the polynomial

203 + 3y — Ty + 6.



https://dl.doubtnut.com/l/_FK7nC0bm5pDQ
https://dl.doubtnut.com/l/_AOKPqsTUKeSA
https://dl.doubtnut.com/l/_oziqEypOncIM
https://dl.doubtnut.com/l/_FiHTunJl00OU
https://dl.doubtnut.com/l/_kdPM4BE3Yz2e

o View Text Solution

7. Factorise the polynomial 2 + 7z + 12 by splitting the middle term .

o Watch Video Solution

8. Factorise : z° — 23z2 + 142z — 120

o Watch Video Solution

9. Use suitable identities to find the following products :
(i) (2z + Ty)(2z + Ty)

(ii) (3z — 5y)(3z — 5y)

(iii) (5z + 3y)(bz — 3y)

(iv) (5 + 2y)(5x + 3y) .

o View Text Solution



https://dl.doubtnut.com/l/_kdPM4BE3Yz2e
https://dl.doubtnut.com/l/_UzqgBmgSvywy
https://dl.doubtnut.com/l/_ALpHmyojHWEk
https://dl.doubtnut.com/l/_p7MI0HyNsrxc
https://dl.doubtnut.com/l/_sFk5IbfFQqsg

10. Factorise :

(i) 36a + 60ab + 25b°

o View Text Solution

1. Expand (4a — 2b — 3c).

o View Text Solution

12. Factorise : 422 + y% + 2% — 4oy — 2yz + 4daz .

o View Text Solution

13. Write the following cubes in the expanded form:
(i) (2a + 3b)°

(ii) (3p — 5q)°



https://dl.doubtnut.com/l/_sFk5IbfFQqsg
https://dl.doubtnut.com/l/_4893i1FMiN36
https://dl.doubtnut.com/l/_fRct6Sz4HWeB
https://dl.doubtnut.com/l/_QT6AM7zvQ4SI

| o Watch Video Solution

14. Factorise : 82° + y3 + 2723 — 18zyz .

o Watch Video Solution

Solved Examples

1. Find the zeroes of the polynomial z® + 62> + 11z 4 6 which are

integers .

o Watch Video Solution

4
2.0fz = 3 is a zero of the polynomial p(z) = 6z* — 112* + ka — 20,

then find the value of k..

o Watch Video Solution



https://dl.doubtnut.com/l/_QT6AM7zvQ4SI
https://dl.doubtnut.com/l/_f4QoHKzWp2DW
https://dl.doubtnut.com/l/_9Rs71iRwJXzB
https://dl.doubtnut.com/l/_JnnuC9Jycbtw
https://dl.doubtnut.com/l/_fRe7ZPrRaooA

3. If the polynomials az® + 42% + 3z — 4 and z* — 4z + a leave the

same remainder when divided by (z — 3), find the value of a.

° Watch Video Solution

4. The polynomials az® + 322 — 13 and 22® — 5z + a are divided by

(z + 2) .If the remainder in each case is same , then find the value of a.

o Watch Video Solution

5. Let R; and Rz are the remainders when the polynomials
23 4 22 — 5axz — 7 and z® + ax? — 12z + 6 are divided by = + 1 and

x — 2respecti-vely. If 2R; + R2 = 6, find the value of a-

o Watch Video Solution



https://dl.doubtnut.com/l/_fRe7ZPrRaooA
https://dl.doubtnut.com/l/_OAriEIWrXJMj
https://dl.doubtnut.com/l/_XFZX2LOQWv0D

6. 1f 22 — 1 =0 is a factor of az* + bz® + cx® + dz + e; show that

at+tct+te=b+d=0

o Watch Video Solution

7.1n each of the following polynomials, find the value of aif x +a is a
factor of
\)z® +az? — 2z +a+4

(i) z* — a’2? + 3z — a

o Watch Video Solution

8. What must be added to z* + 223 — 222 + z — 1 so that the result is

exactly divisible by 2 4 2z — 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_ElTD5boBFgQA
https://dl.doubtnut.com/l/_6NFXI5QcGGCy
https://dl.doubtnut.com/l/_pV63qa2nMSaC

9. Evaluate 103 x 97 by using identities .

o Watch Video Solution

10.1fa> + b2+ =20and a + b+ ¢ = 9, find ab+bc+ca .

o Watch Video Solution

11. What must be subtracted from 4z* — 223 — 622 + £ — 5 so that the

result is exactly divisible by 2z + z — 17

o Watch Video Solution

12.1fa® + b* + ¢ = 250 and ab+bc+ca = 3, find a+b+c .

o Watch Video Solution



https://dl.doubtnut.com/l/_0DV7WRsqupKD
https://dl.doubtnut.com/l/_8Q5sMCCbdtZP
https://dl.doubtnut.com/l/_yx5CZGSXHvpd
https://dl.doubtnut.com/l/_lfIiEki7RJIe

1 1
1B.ifz2 + — = 83.Find the value ofx® — —
T x3

o Watch Video Solution

14. Evaluate: 30° + 20° — 50°

o Watch Video Solution

15. If a+b+c=15anda®> +b +c =83, find the value of

a® + b + ¢ — 3abe

o Watch Video Solution

Ncert Section Exercise 2 1

1. Which of the following expressions are polynomials in one variable

and which are not ? State reasons for your answer .


https://dl.doubtnut.com/l/_GAtMyXTihNfz
https://dl.doubtnut.com/l/_6EtDt5XEJgKx
https://dl.doubtnut.com/l/_LexB8bh0zPcp
https://dl.doubtnut.com/l/_ECPv3mcOjlwB

(i)4z? — 3z + 7
(i) y* + v2
(iii) 3v/E + t/2
i)y =
)y = —

Y Yy

(V) m10 + y3 + t50

o Watch Video Solution

2. Write the coefficients of 2 in each of the following :
()2 + 2+
(i) 2 — 2® + z°
(iil) =22 +
ElB X

(iv) 22z — 1

o Watch Video Solution

3. Give one example each of a binomial of degree 35 and of a monomial

of degree 100.



https://dl.doubtnut.com/l/_ECPv3mcOjlwB
https://dl.doubtnut.com/l/_O2cSAvZX89j2
https://dl.doubtnut.com/l/_ao1BvVziHFTh

l 0 Watch Video Solution

4. Write the degree of each of the following polynomials :

(i) 523 + 422 + Tz

(i) 4 — o
(iii) 5t — /7
(iv) 3

o View Text Solution

5. Classify the following as linear, quadratic and cubic polynomials:
(i)z® + z

(i) z — z°

(i) y +y° + 4
(ivV1+=x

(v) 3t

(vi) r?

(vii) 7z>


https://dl.doubtnut.com/l/_ao1BvVziHFTh
https://dl.doubtnut.com/l/_3L580NAUxbeK
https://dl.doubtnut.com/l/_Ct1KPWh0Ibg2

o Watch Video Solution

Ncert Section Exercise 2 2

1. Find the value of the polynomial 5z — 42> + 3 at :

(i)z =0 (i)e = —1 (iii)x = 2

o Watch Video Solution

2.Find p(0), p(1) and p(2) for each of the following polynomials :
Wp(y) =y* —y+1

(i) p(t) = 2+t + 2t — ¢

(i) p(z) = 23

(iv) p(z) = (z — 1)(z + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_Ct1KPWh0Ibg2
https://dl.doubtnut.com/l/_A1314THCor45
https://dl.doubtnut.com/l/_Fb3GAqlPIHbO

3. Verify whether the following are zeroes of the polynomial, indicated
against them .

: 1
(p(z) =3z +Lz= — 3

1
(viii) p(z) =2z + 1,z = 3

o Watch Video Solution

4.Find the zero of the polynomial in each of the followimg cases :
()p(z) =z +5

(i)p(z) =z —5

(i) p(z) = 22 + 5

(iv) p(z) = 3z — 2


https://dl.doubtnut.com/l/_FUoCkyI5KZkA
https://dl.doubtnut.com/l/_Seiujb4zlQTv

(V) p(z) = 3z
(vi) p(z) = az,a # 0

(vii) p(z) = cx + d, ¢ # 0, ¢, d are real numbers .

o Watch Video Solution

Ncert Section Exercise 2 3

1.Find the remainder when 2® + 3z + 3z + 1is divided by
iz +1

iz —1/2

(i)

(ivie +m

(V)5 + 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_Seiujb4zlQTv
https://dl.doubtnut.com/l/_FMJ4ulDF6vfd

2.Find the remainder when

23 — az? + 6z — ais divided by x - a

o Watch Video Solution

3. Cheak whether 7 + 3z is a factor of 3z° + 7z .

o Watch Video Solution

Ncert Section Exercise 2 4

1. Determine which of the following polynomials has (z + 1) a factor :
Nzl +z2+z+1

(ii)x4—|—x3—|—x2—|—x+1

(i) 2* + 32° + 32> + = + 1

(iv) z® —2* — (2+ V2)z + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_zrlCOtVsprND
https://dl.doubtnut.com/l/_GBIGqcli3s2j
https://dl.doubtnut.com/l/_rjLOTlBmZPVr

2. Use the factor theorem, to determine whether g(z) is a factor of p(z)
in each of the following cases :

(i)p(z) = 22> + 2> — 2z — 1,g(z) =z + 1

(i) p(z) = 2> + 322 + 32 + 1, g(z) = = + 2

(i) p(z) = 2° — 42> + 2 +6,9(z) =z — 3

o Watch Video Solution

3.Find the value of k, if z — 1 is a factor of p(z) in each of the following
cases :

(i)p(z) =z>+z +k

(i) p(x) = 22 + kzx + /2

(i) p(z) = kz? — 2z + 1

(iv) p(z) = kz® — 3z + k

° Watch Video Solution



https://dl.doubtnut.com/l/_rjLOTlBmZPVr
https://dl.doubtnut.com/l/_6E3n0DZ3NH3j
https://dl.doubtnut.com/l/_UyLxEF7PFL3k
https://dl.doubtnut.com/l/_jkpkQUrYN6VO

4. Factorise:(i) 1222 — Tz + 1 (i) 222 + Tz + 3 (iii) 622 + 5z — 6 (iv)

322 —z — 4

o Watch Video Solution

5. Factorise: (i) 2 — 22% —x + 2 (i) 22 — 322 -9z — 5 (iii)

23 4+ 1322 + 32z + 20(iv) 2° + y® — 2y — 1

o Watch Video Solution

Ncert Section Exercise 2 5

1. Use suitable identities to find the following products :

(i) (z + 4)(z + 10) (i7)(z + 8)(z — 10)
(id1) (3z + 4)(3z — 5) (iv) (y2 + g) <y2 — ;)

(v)(3 —2z)(3 + 2z)

o View Text Solution



https://dl.doubtnut.com/l/_jkpkQUrYN6VO
https://dl.doubtnut.com/l/_IbEMf4t9cn4H
https://dl.doubtnut.com/l/_68GrTZe71H9V

2. Evaluate the following products without multiplying directly :
(i) 103 x 107
(i) 95 x 96

(iii) 104 x 96

° Watch Video Solution

3. Factorise the following using appropriate identities :

(4)9z% + 62y + y° (3i)4y® — 4y + 1 (4ii)x? — <00

o Watch Video Solution

4. Expand each of the following, using suitable identities :
(i) (z + 2y + 42)°

(i) (2 — y + 2)°

(i) ( — 2z + 3y + 22)°

(iv) (3a — b — ¢)*


https://dl.doubtnut.com/l/_9gSKT2CZ5g2W
https://dl.doubtnut.com/l/_jKWS5nLopXki
https://dl.doubtnut.com/l/_Nvj1veMhnUqB

v) ( — 2z + by — 32)*

1 1 2
(vi) lza — Eb + 1]

o Watch Video Solution

5. Factorise :
(i) 422 + 9y + 1622 + 122y — 24yz — 1622

(i) 222 + y® + 822 — 222y + 4/ 2yz — 8zz

o Watch Video Solution

6. Write the following cubes in expanded form:
(i) (2z + 1)°

(ii) (2a — 3b)°
3
m%;x+q

. 2 1°
(iv) [x - gy}

o View Text Solution



https://dl.doubtnut.com/l/_Nvj1veMhnUqB
https://dl.doubtnut.com/l/_ZeWZ2pMsS1dL
https://dl.doubtnut.com/l/_OvGPEh1Q6Nnw

7. Evaluate the following using suitable identities :
(i) (99)°
(ii) (102)*

(iii) (998)°

° Watch Video Solution

8. Factorise each of the following :

(i) 8a® + b® + 12a%b + 6ab?

(ii) 8a® — b* — 12a%b + 6ab>

(iii) 27 — 125a® — 135a + 2254

(iv) 64a> — 27b% — 144a’b + 108ab?
9 1

1
3 - T2 -
(v) 27p 216~ 2P + 4

o Watch Video Solution



https://dl.doubtnut.com/l/_9S31tAtzCHIR
https://dl.doubtnut.com/l/_EsCqdCskklQ8

9. Verify : () 2° + y° = (z + y) (z° — zy + ¥°)

(i) z® — y® = (z —y) (:I:2 + zy + yz)

o Watch Video Solution

10. Factorise each of the following :
(i) 27y> 4 12523

(ii) 64m> — 343n°

° Watch Video Solution

11. Factorise : 27z + ¢ + 23 — 9zyz

° Watch Video Solution

12. Verify that

e+ + 22 -3y = —(z+y+2) (a:—y)2+(y—z)2+(z—x)2]

N =



https://dl.doubtnut.com/l/_6G1NlbU0vV2g
https://dl.doubtnut.com/l/_CtvEKXuvSTw4
https://dl.doubtnut.com/l/_wu8FUFA2EMoV
https://dl.doubtnut.com/l/_xhRCwKaHOxnP

| o Watch Video Solution

13.If z + y + z = Oshow that 2® + ¢® + 23 = 3zyz.

o Watch Video Solution

14. Without actually calculating the cubes, find the value of each of the

following:(i) ( — 12)* + (7)* + (5)° (i) (28)® + ( — 15)® + ( — 13)°

o Watch Video Solution

15. Give possible expressions for the length and breadth of each of the
following rectangles, in which their areas are given :
(i) Area : 250 — 35a + 12

(ii) Area : 35y% + 13y — 12

o Watch Video Solution



https://dl.doubtnut.com/l/_xhRCwKaHOxnP
https://dl.doubtnut.com/l/_F6N5OJ5E7sqz
https://dl.doubtnut.com/l/_7ZogJXDtvob5
https://dl.doubtnut.com/l/_KReRbaz2lyRZ
https://dl.doubtnut.com/l/_ccpgYbQD1LgK

16. What are the possible expressions for the dimensions of the cuboids
whose volumes are given by ?
(i) Volume : 3z — 12z

(ii) Volume : 12ky® + 8ky — 20k

o Watch Video Solution

Exercise Multiple Choice Question Level 1

1. Which one of the following algebraic expressions is a polynomial in
variable x ?
2
Az? + —
x

1
B.y/x + —
VEE 2

32133/2

Z

C.z? +

D. None of these

Answer: C


https://dl.doubtnut.com/l/_ccpgYbQD1LgK
https://dl.doubtnut.com/l/_YAPXQ70Pw9i4

o Watch Video Solution

2. Degree of the polynomial p(z) = 3z* + 6z + 7is

A4
B.5
C.3

D.1

Answer: A

o Watch Video Solution

3. Degree of the polynomial p(z) = (x + 2)(x — 2) is

A2

B.1


https://dl.doubtnut.com/l/_YAPXQ70Pw9i4
https://dl.doubtnut.com/l/_HCJopUZm1zO3
https://dl.doubtnut.com/l/_aS9d9U7B7eVV

C.0

D.3

Answer: A

o Watch Video Solution

4.1f 8z* — 822 + 7is divided by 2z + 1, the remainder is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aS9d9U7B7eVV
https://dl.doubtnut.com/l/_VZuStzPdTnts

5. Condition identitiy : If a + b + ¢ = 0 then a® + b* 4 ¢ = 3abc

A. abc
B. 3abc
C. 2abc

D. -3abc

Answer: B

o Watch Video Solution

6.Factors of z* — 22 — 12 are

A (z+2),(z —2), (z* +3)
B.(z + 3), (z — 3), (z* +2)
C.(z +2), (z — 2), (z* — 3)

D. (w2 + 2), (x2 — 6)


https://dl.doubtnut.com/l/_bKMWcA4mLoRQ
https://dl.doubtnut.com/l/_6tiH639GQixU

Answer: A

o Watch Video Solution

7. Factorisation of a®* — b*® is
A (a® +b%)(a” — b")
B. (a® — b°)?
C.(a* + b")(a® — b)

D. (a® — b")(a® + %)

Answer: A

o Watch Video Solution

8.2+ (a+b+c)x +ab+bc=

A(z+a)(z+b+c)


https://dl.doubtnut.com/l/_6tiH639GQixU
https://dl.doubtnut.com/l/_mSqNyB6NX3fJ
https://dl.doubtnut.com/l/_VrW4ys69f3VU

B.(z +a)(z 4+ a+ ¢
C(zx+b(z+a+c)

D.(z +b)(z+b+c¢)

Answer: C

o Watch Video Solution

9. For the polynomial p(z) = z° + 42> — 52> + = — 1, one of the
factors is

A (x+1)

B.(z — 1)

Cx

D. (z + 2)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VrW4ys69f3VU
https://dl.doubtnut.com/l/_KYywq1hq3SDj

10. Factorize: a® + b? + 2(ab + bc + ca)

A (a+b)(a+ b+ 2¢)
B.(b+c)(c+ a+ 2b)
C.(c+a)(a+ b+ 2¢)

D.(b+a)(b+ c+ 2a)

Answer: A

° Watch Video Solution

11. Factorisation of 22 + 3/2x + 4 is

A (z +2v2) (z + 2)
B. (z + 2v2) (z — v/2)
C. (m — 2\/5) (:I: + \/i)


https://dl.doubtnut.com/l/_KYywq1hq3SDj
https://dl.doubtnut.com/l/_FBNxIEPHJoh0
https://dl.doubtnut.com/l/_hzDfpIgCIn77

D. (z — 2v/2) (z — v/2)

Answer: A

o Watch Video Solution

2

12. Factorisation of 22 — 1 — 2a — a? is

A(z—a—-1)(z+a—1)

B.(z+a+1)(z—a—1)

C(z+a+1)(z—a+1)

D.(z —a+1)(z+a—1)

Answer: B

o View Text Solution

13. Which of the following algebraic expressions is not a polynomial ?


https://dl.doubtnut.com/l/_hzDfpIgCIn77
https://dl.doubtnut.com/l/_bs1Ch4I720MT
https://dl.doubtnut.com/l/_tlwYMKCsQyTQ

A—z+z—-3
B./Tz> + 32%/% — 8
Cc.3

D.0

Answer: B

o View Text Solution

14. Factors of (42 —x — wz) are
A (x—T7),(z—6)
B.(z +7), (x — 6)
C (ZB +7)a (6_37)

D.(zx —7),(z+6)

Answer: C

| o \Wiakr~h \liAaAA CAlLiikian


https://dl.doubtnut.com/l/_tlwYMKCsQyTQ
https://dl.doubtnut.com/l/_xVUH97VsvXFn

| § YVvUilll VIMGUY JVIUVGIVIEL )

15. In the method of factorisation of an algebraic expression, which of
the following statement is false ?

A. Taking out a common factor from two or more terms .

B. Taking out a common factor from a group of terms .

C. Using remainder theorem .

D. Using standard identities .

Answer: C

o Watch Video Solution

16. Factors of (a + b)® — (a — b)* are

A.2ab, (3a® + b%)

B. ab, (30,2 + b2)


https://dl.doubtnut.com/l/_xVUH97VsvXFn
https://dl.doubtnut.com/l/_8Kj60uPtsZOq
https://dl.doubtnut.com/l/_a0YT8Uj4lSFh

C.2b, (3a® + b7)

D. (?;a2 + b2), 2a

Answer: C

° Watch Video Solution

17. The common quantity that must be added to each term of a”: b* to

make it equal to a:b is

A.ab

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_a0YT8Uj4lSFh
https://dl.doubtnut.com/l/_fYHXSwe34AfR
https://dl.doubtnut.com/l/_GH8bC2d2xTcW

18. One of the dimensions of the cuboid whose volume is

16x% — 26x + 10 is

A 2

B.(8z — 5)

C.(x—1)

D. All of these

Answer: D

o Watch Video Solution

19. find the value of x+y+z if 22 +y* + 22 =18andzy +yz+ 22 =9.

A9
B.3

C.6


https://dl.doubtnut.com/l/_GH8bC2d2xTcW
https://dl.doubtnut.com/l/_E1ogoJBVAlQm

D.8

Answer: C

o Watch Video Solution

20. Find the remainder when the polynomial

f(z) = 2® — 3z 4 42 + 50 is divided by = + 3.

A —16
B.—12
C.—20
D.—10
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_E1ogoJBVAlQm
https://dl.doubtnut.com/l/_KR4l3khPaTZS

21. The value of a for which (z + a) is a factor of the polynomial

x3+am2—2x+a+6is

A 4

B.2

Answer: D

° Watch Video Solution

22. Factorisation of the polynomial /3z% + 11z + 6,/3
A (v3z + 2) (z — 34/3)

B. (v3z + 2) (z + 3/3)
C. (v2z + 3) (z + 2¢/3)



https://dl.doubtnut.com/l/_R6Jldy0ky0pa
https://dl.doubtnut.com/l/_kSaywFbwCZLO

D. (v2r — 2) (z + 3v2)

Answer: B

o Watch Video Solution

23.Ifz = — 2and 22 + y? + 2zy = 0, then find y.

o Watch Video Solution

1 1
24.Ifx + Pl 5,then find the value of 2% + — -
T

A. 26
B. 23
C.30

D. 22

Answer: B



https://dl.doubtnut.com/l/_kSaywFbwCZLO
https://dl.doubtnut.com/l/_OSPbWY85yfyx
https://dl.doubtnut.com/l/_3thn9xoCvgyv

| o Watch Video Solution

25. Find the value of z* — 8y — 36zy — 216 ,when z = 2y + 6.

B.2
C.0

D.3

Answer: C

o Watch Video Solution

x3 — 4 — x + 422

26. Simplify : R

Ad+zx

B.2+x


https://dl.doubtnut.com/l/_3thn9xoCvgyv
https://dl.doubtnut.com/l/_99DoI0C25fS9
https://dl.doubtnut.com/l/_OmgPkuB3F0kJ

Cl—=x

D.x +1

Answer: D

o Watch Video Solution

27. Which of the following is true if (x + 1) and (z + 2) are factors of
p(z) = 2° + 32% — 2az + B?

A 20+ 28 =2

B.2a — 38 = —2

Ca—-78=5

D.7Taa — B =2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OmgPkuB3F0kJ
https://dl.doubtnut.com/l/_Nqq2T0iNciGF
https://dl.doubtnut.com/l/_0GJv97qOIAHH

28. Factorise : 62° — 522 — 13z + 12

A (z —1)(3z — 4)(2z + 3)
B.(z + 1)(3z + 4)(2x — 3)
C.(z —1)(3z — 4)(2z — 3)

D.(z +1)(3z + 4)(2z + 3)

Answer: A

o Watch Video Solution

29. If p(z) =x> 32> —2x+4 , then find the value of
[p(2) +p( = 2) — p(0)].

A. 28

B.14

C.—20


https://dl.doubtnut.com/l/_0GJv97qOIAHH
https://dl.doubtnut.com/l/_qraqqAFkAJr4

D. 16

Answer: -20

o Watch Video Solution

30.1f p = 2 — a, then a® + 6ap + p* — 8=

A0
B.1
C.2

D.3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qraqqAFkAJr4
https://dl.doubtnut.com/l/_UFZyovmqaPrs

31. The polynomial p(z) = z* — 22> 4 32° — az + 3a when divided by
(z + 1) leaves the remainder 19. Find the value of a.

A.19/4

B.13/4

c.1/4

D.17/4

Answer: B

° Watch Video Solution

32. The values of a and b so that the polynomial z* — az?® — 13z + b

has (z — 1) and (x + 3) as factors respectively are

A 3,15

B.5, 13


https://dl.doubtnut.com/l/_LNlWprNCHwVY
https://dl.doubtnut.com/l/_4TALStGIg4Zg

C.15,3

D.5, 10

Answer: A

o Watch Video Solution

33. The product (a + b)(a — b)(a® — ab + b*) (a® + ab + b%) is equal
to: a® + 8% (b) a® — b (c) @® — * (d) @® + b®

A.a® + 18

B.a% — 8"

C.a® -0t

D.a® + v*

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4TALStGIg4Zg
https://dl.doubtnut.com/l/_tcUj4iXmirG7
https://dl.doubtnut.com/l/_t8EZ8Yo3OMJ0

34. Posible factors of z* + 2% — 722 — z + 6 are

Ax+1

B.z +3

Czxz—2

D. All of these

Answer: D

o Watch Video Solution

2 b2 2

35.0fa+b+c=0, then%+—+c—b: 0(b)1(c) —1(d)3
A0
B.1
c.—1

D.3


https://dl.doubtnut.com/l/_t8EZ8Yo3OMJ0
https://dl.doubtnut.com/l/_WzKRLz5qWdQP

Answer: D

o Watch Video Solution

Exercise Multiple Choice Question Level 2

1. One of the factor of

(a + 2b)° + (2a — ¢)® — (a + 2¢)° + 3(a + 2b)(2a — ¢)(a + 2¢) is

A.2a + 2b — 3¢
B.2a — 2b + 3¢
C.2a + 2b + 3¢

D.—2a — 2b — 3¢

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WzKRLz5qWdQP
https://dl.doubtnut.com/l/_RLB8bWWBHZmH

1
2. Factors of <x2 + % — E) are
1
E’ (22 + 1), (3z + 1)
1
1
C. 5 (22 — 1), (3z — 1)
1
Answer: B

o Watch Video Solution

3.Factorise: p*(q — 7)° 4+ ¢(r — p)® + *(p — ¢)°

A.2pq(p + q) (g +7)(r — p)
B.3pgr(p — q)(r — q)(r — p)
C.2pgr(p —q)(g—r)(p—r)

D. 3pgr(p — q)(g — 7)(r — p)


https://dl.doubtnut.com/l/_2zH7kGluSiQy
https://dl.doubtnut.com/l/_if5oKPxRs5HI

Answer: D

o Watch Video Solution

1
4.f bothz = 2andxz = - are factors of pz2 + 5 + r , then p=

Answer: D

° Watch Video Solution

1
5.The following steps are involved in finding the value of at + — when
a

a + — = 1.Arrange them in sequential order from the first to the last .
a

1 1
Wa*+ S +2=1=>ad+ 5= -1
a a



https://dl.doubtnut.com/l/_if5oKPxRs5HI
https://dl.doubtnut.com/l/_WZfHrRri6cVm
https://dl.doubtnut.com/l/_YIV3MXRpyuSo

A. CADBE

B. CDBAE

C. CBADE

D. CEDAB

Answer: A

° Watch Video Solution

2 4
6.1f 3z + — =7, then (9:1;2 - —2) — 25 (b) 35 (c) 49 (d) 30
X

A. 25

B. 35


https://dl.doubtnut.com/l/_YIV3MXRpyuSo
https://dl.doubtnut.com/l/_SBIWzkyc1lhl

C.49

D. 30

Answer: B

o Watch Video Solution

4 1 . 3 1
7.1f 2 + — = 194 . Find the valueof [ z° + — | .
xt x3
A. 54
B. 52

C.64

D. 62

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SBIWzkyc1lhl
https://dl.doubtnut.com/l/_CcaivPg0UZ1d

8. What must be subtracted from z° — 622 — 15z + 80 = 0 so that the
resultant is exactly divisible by 2 + = — 12?

Az +4

B.4x — 4

C.4x + 4

D.z — 4

Answer: B

° Watch Video Solution

9.Simplify each : (42 + 2y)* + (42 — 2y)°

A. 12823 + 96zy°
B. 12823 + 962y

C.128z3 + 48y°


https://dl.doubtnut.com/l/_XBhRCRVSPolr
https://dl.doubtnut.com/l/_Mp6UO5mZS271

D. None of these

Answer: A

o Watch Video Solution

10. If  and y be two positive real numbers such that
x > 3y, z2 + 9y? = 369 and zy = 60, then the value of z — 3y is

A4

B.3

C.2

D.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Mp6UO5mZS271
https://dl.doubtnut.com/l/_CTMjMVB0JRCp

M.Ifz + y = 5and zy = 6, then the value of > + 3% is

A. 35
B. 45
C.30

D. 125

Answer: A

o Watch Video Solution

12. If the polynomials 2z + az® + 3z — 5 and z° 4 2? — 4z + a leave
the same remainder when divided by x — 2, then the value of a is
A.13/3
B.—13/3

C.26/3


https://dl.doubtnut.com/l/_nEcaYFGehcbv
https://dl.doubtnut.com/l/_8WgWL3R5aAnI

D.—26/3

Answer: B

o Watch Video Solution

13. If the polynomial a — 2z + 5z2 is divided by = — 2 , it leaves

remainder 7 . Then, the value of a is

B.9

C.7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8WgWL3R5aAnI
https://dl.doubtnut.com/l/_4mKJlH6HkLdR

10

5
14.Find the value of p* — ¢, ifp — ¢ = o and pq = 3

A 5050
- 729

5050

8

C. 5051 /729

D. 4050 /729

Answer: A

o Watch Video Solution

o z  Y\° x  yY\3
15. Simpl :(— —) _(___)
implify: (3 + 5 3 5
L (2 Y
"5\ 3 25
s (2 v
"5\ 3 25
2z (2 4P
C?<?+2—5)
w (22 P
DF(?*%)


https://dl.doubtnut.com/l/_9PwSAGRX5ElJ
https://dl.doubtnut.com/l/_iJhWMJocUVVs

Answer: D

o Watch Video Solution

Exercise Match The Following

1. List-ll shows the degree of polynomials given in List -I.

List-I List-11

81)4 1(25Yy2 (5 | 3
m;[. []+( ] (1

16 x] g 2. [ 80
Y0125 % 2(0.00032
(Q) ‘_"' x " ' _i_ 1 (2) 2

3(0.00243) % x (27)*3 21

bl

39 + 830

"
|

(R) (81y°? (

276 + V5
"In..'], _I:._.}:\:_:.__ {4] ]

W5 -2v6

o Watch Video Solution



https://dl.doubtnut.com/l/_iJhWMJocUVVs
https://dl.doubtnut.com/l/_ArnRFXXNX91r

2. List-ll gives value of k for polynomials given in List - | when it is

completely divisible by x — 1.

List-1 List-11

(P) I (1y 4.357
VA -3

Q) ~+ (2} 3968
2 J5

¥ ] | 3 ¥

(R) - (3) 9]
25 - 3y2

(5) m+1/v2 (4) 3.848

° Watch Video Solution

3. List-ll gives value of the polynomials given in List -l at the given points


https://dl.doubtnut.com/l/_wYiz5AJ6zNCW
https://dl.doubtnut.com/l/_746Z9hEUWReY

List-1 List-11

o —

(Py If v = ?‘f and 1 = px-'r?, (1 7

X

then p =
(Q) If ¥ =v5-2, then (2) 0

[+:5)

Xt =

x”

(R) 1£5° 7 3% " = 455625, (3) 18

then v =
(S) 1f2'=3=¢" (4) 2577

then 1/x + 1/y + 1/z =

o Watch Video Solution

Exercise Assertion Reason Type

1. Assertion : (z +2) and (z — 1) are factors of the polynomial

at 4 23 + 222 + 42 — 8.
Reason : For a polynomial p(z) of degree > 1,z — a is a factor of the

polynomial p(z) if and only if p(a) > 1.


https://dl.doubtnut.com/l/_746Z9hEUWReY
https://dl.doubtnut.com/l/_VNg3Qdr6OvqP

A. If both assertion and reason are true and reason is the correct

explanation of assertion .

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C.If assertion is true but reason is false.

D. If assertion is false but reason is true .

Answer: C

° Watch Video Solution

2. Assertion : The remainder when p(z) = z° — 62% 4 2z — 4 is divided

—107

by (3z — 1)i
y (3z — 1)is 5

Reason : If a polynomial p(z) is divided by axz — b, the remainder is the

a

value of p(z)at (a: = 2) .


https://dl.doubtnut.com/l/_VNg3Qdr6OvqP
https://dl.doubtnut.com/l/_C4rz0bFiHFBR

A. If both assertion and reason are true and reason is the correct

explanation of assertion .

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C.If assertion is true but reason is false.

D. If assertion is false but reason is true .

Answer: A

° Watch Video Solution

3. Assertion : The degree of the polynomial (z — 2)(z — 3)(z +4) is 4.
Reason : The number of zeroes of a polynomial is the degree of that
polynomial .

A. If both assertion and reason are true and reason is the correct

explanation of assertion .


https://dl.doubtnut.com/l/_C4rz0bFiHFBR
https://dl.doubtnut.com/l/_sUScc79t2qpI

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C.If assertion is true but reason is false.

D. If assertion is false but reason is true .

Answer: D

° Watch Video Solution

4. Assertion : The expression 3z* — 42%/? + 2% = 2is not a polynomial

because the term —4z>/2 contains a rational power of x .
Reason : The highest exponent in various terms of an algebraic

expression in one variable is called its degree .

A. If both assertion and reason are true and reason is the correct

explanation of assertion .


https://dl.doubtnut.com/l/_sUScc79t2qpI
https://dl.doubtnut.com/l/_MXtmJEAjmgHJ

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C.If assertion is true but reason is false.

D. If assertion is false but reason is true .

Answer: B

° Watch Video Solution

5.Assertion: 32>+ — 1= (z +1)(3z —2) + 1.

Reason : If p(z) and g(x) are two polynomials such that degree of
p(xz) > degree of g(z) and g(x) > 0 then we can find polynomials g(z)
and 7(x) such that p(z) = g(z). g(xz) + r(x), where r(z) =0 or

degree of r(x) < degree of g(z) .

A. If both assertion and reason are true and reason is the correct

explanation of assertion .


https://dl.doubtnut.com/l/_MXtmJEAjmgHJ
https://dl.doubtnut.com/l/_Lwxep6OYEHY6

B. If both assertion and reason are true but reason is not the correct

explanation of assertion .

C. If assertion is true but reason is false .

D. If assertion is false but reason is true .

Answer: A

o Watch Video Solution

Exercise Comprehension Type

1. For a polynomial p(x) of degree > 1,p(a) = 0, where a is a real
number, then (z — a) is a factor of the polynomial p(z)
p(z) = 3 — 32° + 4z — 12, then p(3) is

A0

B.1


https://dl.doubtnut.com/l/_Lwxep6OYEHY6
https://dl.doubtnut.com/l/_aUHk62b82Diw

D.2

Answer: A

o Watch Video Solution

2. For a polynomial p(z) of degree > 1,p(a) = 0, where a is a real
number, then (z — a) is a factor of the polynomial p(z)
For what value of k, the polynomial 2z* + 3z + 2kz® 4 3z 4 6 is

exactly divisible by (z + 2) ?

A0

Cc.1

D.2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aUHk62b82Diw
https://dl.doubtnut.com/l/_b2eJrAy33hfc

3. For a polynomial p(z) of degree > 1,p(a) = 0, where a is a real
number, then (z — a) is a factor of the polynomial p(z)

Find the value of kif z — 1is a factor of 42> + 322 — 4z + k.

A0

B.1

D.2

Answer: C

° Watch Video Solution

4. A polynomial of degree n > 1 can have at most n real zeroes. A
quadratic polynomial can have at most two real zeroes .

Find the zero of the polynomial g(u) = 3u .


https://dl.doubtnut.com/l/_b2eJrAy33hfc
https://dl.doubtnut.com/l/_1h8TcY9oCuzb
https://dl.doubtnut.com/l/_2F7trYRtXSuE

A0

B.3

C.2

D.1

Answer: A

° Watch Video Solution

5. A polynomial of degree n > 1 can have at most n real zeroes. A
quadratic polynomial can have at most two real zeroes .
find the zeroes of the polynomial p(z) = 3z + 7z + 2.

Al —1/3

B.—1/3, —2

C.2/3,1

D.1/3,2


https://dl.doubtnut.com/l/_2F7trYRtXSuE
https://dl.doubtnut.com/l/_0HfrO7JmrtUO

Answer: B

o Watch Video Solution

6. A polynomial of degree n > 1 can have at most n real zeroes. A
quadratic polynomial can have at most two real zeroes .
Find p(1),if p(z) = 2* — 222 + 1412 — 120.

A—1

B.—12

C.0

D.9

Answer: C

o Watch Video Solution

Exercise Subjective Problems Very Short Answer Type


https://dl.doubtnut.com/l/_0HfrO7JmrtUO
https://dl.doubtnut.com/l/_MKlyD9x4ui6O

1. Find zeroes of the polynomials given below :
(i)3x + 7

(i)ly+m,l #0

o Watch Video Solution

2.Factorise:a® — b®> + 1 + 3ab

o Watch Video Solution

3.Expand (42 — 3y — 22)°.

o Watch Video Solution

4. Give possible expressions for the length and breadth of the rectangle

whose area is given as 16a* — 32a + 15 square units ,a > 1

° Watch Video Solution



https://dl.doubtnut.com/l/_Hj6xfH3P5Dc9
https://dl.doubtnut.com/l/_WecHOciRkcd3
https://dl.doubtnut.com/l/_NhR9vkQnsxwT
https://dl.doubtnut.com/l/_Od2PQdrD86NX

5.Factorise : z* — 322 + 2

° Watch Video Solution

6. Factorise : (p — q)3 + (g — r)3 + (r — p)3

° Watch Video Solution

7. The polynomials az® + 322 — 3 and 22® — 5z + a when divided by
(z — 4) leave the remainders R;andR, respectively. Find the values of a
in each of the following cases, if R =Ry (i) R+ Ry =0

2Ry — Ry =0

o Watch Video Solution

2
-1
8. Factorise : x> —a:(a . ) -1


https://dl.doubtnut.com/l/_Od2PQdrD86NX
https://dl.doubtnut.com/l/_Dc6FLQaOawTY
https://dl.doubtnut.com/l/_rbkzjkV7h141
https://dl.doubtnut.com/l/_B9hbDkYRnVi1
https://dl.doubtnut.com/l/_aOH5zWFKQfm6

o Watch Video Solution

9.show that (3a + 2b — ¢ + d)?® — 12a(2b — ¢ + d) is a perfect square .

o Watch Video Solution

Exercise Subjective Problems Short Answer Type

1. Use factor theorem to verify that y+a is factor of y" + a" for any odd

positive integern .

o Watch Video Solution

2.1f z and y be two positive real numbers such that 4z? + 3* = 40 and

xy = 6, then find the value od 2z + y.

o Watch Video Solution



https://dl.doubtnut.com/l/_aOH5zWFKQfm6
https://dl.doubtnut.com/l/_EWiEIPdks0Y5
https://dl.doubtnut.com/l/_3mp2xsW8QWee
https://dl.doubtnut.com/l/_R5iH6KdxMYYP

3. If the perimeter of a rectangle is 24 units and the length exceeds the

breadth by 4 units, then find the area of a rectangle .

o Watch Video Solution

4. Without actually calculating the cubes, evaluate the expression

(30)° + ( —18)% + ( — 12)°.

o Watch Video Solution

5. For what value of k is the polynomial (2:1:4 + 323 + 2k2® + 3z + 6)

exactly divisible by (z — 2) ?

° View Text Solution

6. Factorize: 5(3z + ) + 6(3z +y) — 8

° Watch Video Solution



https://dl.doubtnut.com/l/_PYNzFYg01v5j
https://dl.doubtnut.com/l/_5vFyjN254f75
https://dl.doubtnut.com/l/_Msq5d91YFxkG
https://dl.doubtnut.com/l/_bsVuvAW8pIU9

1 3 1
7.fx 4+ — =4 ,then find 2° + —
Hi q:3

o Watch Video Solution

8. If r=a+by=b+c,z=c+a , prove that

(z+y+ 2) ><{x2+y2+z2—a:y—yz—za:}:2(a3+b3—|—03—3abc)

o Watch Video Solution

9.1f2a + b = 12 and ab = 15, then find the value of 8a® + b° .

o Watch Video Solution

10. Without actual division, prove that 2z* — 63 + 322 + 3z — 2 is

exactly divisible by z? — 3z + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_bsVuvAW8pIU9
https://dl.doubtnut.com/l/_6uMf1eikS7GE
https://dl.doubtnut.com/l/_lpAJB79NxfUx
https://dl.doubtnut.com/l/_11vm5MZzE2Fj
https://dl.doubtnut.com/l/_xmG02Qx1ADRQ

Exercise Subjective Problems Long Answer Type

Lifz =+/7— /5,y =+/5—/3,2=+/3— /7 then find the value of

z3 + y3 + 23 — 2zyz

o Watch Video Solution

2.1fazx® + bx? + = — 6 has  + 2 as a factor and leaves a remainder 4

when divided by (z — 2), find the value of a and b.

o Watch Video Solution

3. Given that pz? + gz + 6 leaves the remainder as 1 on division by
2z = 1 and 2gz® + 6z + p leaves the remainder as 2 on division by

3z —1.Findpandq.

o Watch Video Solution



https://dl.doubtnut.com/l/_xmG02Qx1ADRQ
https://dl.doubtnut.com/l/_sseZrZuP8e87
https://dl.doubtnut.com/l/_XHDIEcIPJ2Ly
https://dl.doubtnut.com/l/_lFChO6G43Ega

4. The polynomial az® + 3z — 3 and 2z — 52 + a when divided by
x — 1 leaves the remainders R; and R, respectively . Find the value of a

,if2Ry — Ry, = 0.

o Watch Video Solution

(a® — b2)3 + (8 - c2)3 + (& - a2)3

5.Simplify :
plfy (a—b)3+(b—c)3~|—(c—a,)3

o Watch Video Solution

Exercise Integral Numerical Value Type

1.p(z) = +/2is a polynomial of degree

o Watch Video Solution



https://dl.doubtnut.com/l/_lFChO6G43Ega
https://dl.doubtnut.com/l/_MvSTrSUcYBAr
https://dl.doubtnut.com/l/_8gzC36sW5t4w
https://dl.doubtnut.com/l/_GpmvxgG4ngTB
https://dl.doubtnut.com/l/_WOHExhIdys5b

2.Find the degree of the polynomial (z + 2) (m2 — 2z + 4) .

o Watch Video Solution

3. If a=17 then find the degree of the polynomial

p(z) = (z — a)® + 343.

o Watch Video Solution

4.What is the remainder if p(z) = x* + 2z + 1is divided by z — 2?

o Watch Video Solution

5.1 p(z) = 2° — 24/2z + 1, then p(2/2)=

o Watch Video Solution



https://dl.doubtnut.com/l/_WOHExhIdys5b
https://dl.doubtnut.com/l/_qIzgnNHmDVDd
https://dl.doubtnut.com/l/_J7ao3uOz9vYB
https://dl.doubtnut.com/l/_4q2ItTB9EmKh

6.1f (z + 1) is a factor of the polynomial p(z) = 22> + kz , then k =
o Watch Video Solution

7.1f (x — 2) is a factor of 2 — 3z + k, then k =
o Watch Video Solution

8.Find the constant term in the expansion of (z + 3)° .
o Watch Video Solution

9. Find the remainder when the polynomial p(z) = z'% — 2% + 2% is

divided by z + 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZVu62ALRTc9C
https://dl.doubtnut.com/l/_ar9RjXDHDs3C
https://dl.doubtnut.com/l/_EADu1ulpjIcU
https://dl.doubtnut.com/l/_Mo3DLAmGEu30

a® + b + & — 3abe
10. Val f , h
ale © ab+bc+ca — a2 — b2 — 2 when

a= —5b= —6,c=10is

o Watch Video Solution

Olympiad Hots Corner

1.Ifx =

, find the value of z* — 222 — T2 + 5

2 —

A2

B.1

Cc.4

D.3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_yIpSfBzKkn8W
https://dl.doubtnut.com/l/_KHVOUpIM5w3f
https://dl.doubtnut.com/l/_po6xTXjMVe8P

2.The quotient obtained on dividing (8:154 — 222 + 6z — 7) by (2z + 1)
is (4:1:3 + pz? — gz + 3) . The value of (q-p) is

A0

B.—2

C.2

D.4

Answer: C

o Watch Video Solution

3. The polynomial az® — 29z 4 45z — 9 when divided by (3z — 1)
leaves remainder 3 . Find the value of a Also, find the remainder when
the given polynomial is divided by z — 2.

A3, —19

B.6, — 11


https://dl.doubtnut.com/l/_po6xTXjMVe8P
https://dl.doubtnut.com/l/_6t8yN1yTQTdH

C.6,13

D.9, 16

Answer: C

o Watch Video Solution

4. Numbers of zeroes of the zero polynomial is

A0

B.1

C.2

D. Infinite

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6t8yN1yTQTdH
https://dl.doubtnut.com/l/_8qyue6b75D0c

5.1f (z + 2) and (2z — 1) are factors of (2z° + az® + bz + 10) , then
value of (a2 + b2) is

A. 338

B. 218

C.74

D. 198

Answer: A

° View Text Solution

6. Divide the product of (4:1:2—9) and (21:2—3:0—1—1) by

(42° — Tz + 3) .

A2x — 3

B.2x + 3


https://dl.doubtnut.com/l/_e3y5RM2rCPad
https://dl.doubtnut.com/l/_wPIcCc4m5B1s

C.2z

D.3x — 2

Answer: A

o Watch Video Solution

1 1
AT + — = 47 find the value of 2° + —
T T

A7
B.18
C.6

D.12

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wPIcCc4m5B1s
https://dl.doubtnut.com/l/_44YODf35Wydc

8 If a-b=3,a+b+2x=2 , then the value of

(a —b)|2® + 3(a + b)z? + 3z(a + b)* + (a + b)*| is
A 84
B.48
C.32

D.24

Answer: D

° Watch Video Solution

9. If (x + a) is the factor of the polynomials (mz +pzc+q) and

(:c2 + mzx + n) , then the value of 'a' is



https://dl.doubtnut.com/l/_7nyLQPh5yi7p
https://dl.doubtnut.com/l/_OKqZgjUjsYeM

C.
m—p
m
D. P
q—n
Answer: A

o Watch Video Solution

3
10. Find the value of |, so that y — 2p is a factor of 4@/7 —2y+lIp.

A0
B.1
C.2

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OKqZgjUjsYeM
https://dl.doubtnut.com/l/_0KT8AsEI6lxp

11. If the polynomial z*® + 222 — az — 12 is divided by (z — 4) the

remainder is 52 . Find the value of ¢ .
A 11/2
B.—5
C.8

D.—8

Answer: C

° Watch Video Solution

12. Evaluate : (2z — y + 3z2) (43:2 + 9% 4+ 922 + 22y + 3yz — 6:cz)

A. 8z% — y3 + 2723 — 18zyz
B. 8z — y® + 2723 + 18zyz

C.8z% + 4 + 272 + 18zyz


https://dl.doubtnut.com/l/_eEXw4qq517Ds
https://dl.doubtnut.com/l/_vY3F6YBtLCwJ

D.8z3 + y° — 2723 + 18zyz

Answer: B

o Watch Video Solution

13.1f 22 + 3y + z = 0, then (8ac3 + 273 + z3) <+ zyzis equal to

A0
B.6
C.18

D.9

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vY3F6YBtLCwJ
https://dl.doubtnut.com/l/_0ebm94frnrYa

14. The value of k for which (z — 1) is a factor of the polynomial

22 — kz? + 11z — 6is

B.5
C.2

D.6

Answer: D

° Watch Video Solution

1
15.1f 2% + — = 98, find the value of 2 +1/23
x

A. 890
B. 970

C. 990


https://dl.doubtnut.com/l/_yIuHlv0koCXf
https://dl.doubtnut.com/l/_WgJfIiuXV9Su

D. 1110

Answer: B

o Watch Video Solution

16. The polynomials (ar;3 — 1) and (ZBZ + 1) are divided by (z + 1) leave

the reminder as R, and R, respectively. The true statement among the

following is
AR +Ry,=0
BRi — Ry, =0

C.2R1+R2 =0

D.R, — 2Ry = 0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WgJfIiuXV9Su
https://dl.doubtnut.com/l/_RYbaJ3ckYRpK
https://dl.doubtnut.com/l/_n1qfD2KHvcD4

17. Factorise : z* + 523 + 522 — 52 — 6
A. (a:2 — 1) (:1:2 + 6)
B.(z — 1)(z 4+ 2)°
C.(z> —1)(z + 3)(z + 2)

D.(z — 1)(z + 2)(z° + 3)

Answer: C

o Watch Video Solution

18. The factors of l —] will be

E‘L| b

. 2+1 7 1
2 )\ 4 oz
; 2+1 5 1)
\? z )\ 22 =z
5 1)( 5 1

| X+ o) (X2 2
\m XL X Xr

D. None of these


https://dl.doubtnut.com/l/_n1qfD2KHvcD4
https://dl.doubtnut.com/l/_3lk2izseQhdk

Answer: B

o Watch Video Solution

3+1
19.1fx = ‘[; , find the value of 423 + 222 — 8z + 7.

A.8
B. 10
C.15

D. 14

Answer: B

o Watch Video Solution

20. If a+b+c=10 and a®> +b>+c® =80 , find the value of

a® + b + & — 3abe.



https://dl.doubtnut.com/l/_3lk2izseQhdk
https://dl.doubtnut.com/l/_34B8EseRKsX2
https://dl.doubtnut.com/l/_FX1ZUTcZ2s1b

A. 700

B. 710

C. 1280

D. 950

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FX1ZUTcZ2s1b

